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plot (%, LHEA)
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plot(f(x),x=a..b)
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;R T (X) = Lsin X 75X ] (—oo, 00) LI

> plot(sin(X)/x,x=-infinity.._.infinity);
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. Bk g T (X) =<sinx — 7 <X < AEXH] [-6,6] LK.

2 (x—7) X>7
> T:=x->piecewise(X<-Pi,-X-Pi,x<=Pi and x>=-Pi,sin(x),x>Pi,(X-Pi1)/2):

plot(f(x),x=-6..6);

6.1.2 plot %I
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 plot ¥ SH ML — BN plot ([x(t),y(t),t=a..b], &) 1§
plot ([[x(L),y(t),t=a..b],[u(t),v(t),t=c..d]], &) 7E— HhFxZ i [H]
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Wﬂ:@%ﬁ%%{ int ,» te[0,27].

> plot([1l+cos(t),sin(t),t=0..2*Pi]);
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plot &8 m (12 A AAKR AR A S, TR BEE coords ET, plot ] Ll iy
PRAAR T RORR BB G . A AR R R r = r(t), a <t <bMEJEW a4

plot(r(t),t=a..b,coords=polar)
o plot([r(t),t,t=a..b],coords=polar)

7E 6.3 /i, RSy plots By b ms kAR AR 28 1 B B B R R dn &, il
polarplot(r(t),t=a..b)

B« REERARAR R IR HE
> plot([cos(6*x),%x,x=0..2*Pi],coords=polar);




> plot(cos(6*t),t=-Pi..Pi,coords=bipolar); # XMt
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6.2 =4 ¥EE plot3d
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] TR A F O, y) = 4E ISR plot3d drd
plot3d(f(x,y),x=a..b,y=c..d, ki)
5 plot iREUAHEL, plot3d MiEIi Ak, HiEnf 2 n] /. plot3d 51k I i) 44 FR
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. R f (X, Y) = — — T <X Y < IR,
1+sin” x+cos™ y

>plot3d(1/(1+sin(xX)™M+cos(y)™M) ,x=-Pi..Pi,y=-Pi..Pi);

e i R - P LS A R R I
> plot3d([sqrt(8-x"2-y"2),sqrt(x"2+y"2)],x=-2..2,y=-2..2);
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HI plot3d 4 = 4250 (X(s,1), y(s,t), (s, 1)) ik

plot3d([x(s,t),y(s,t),z(s,t)],s=a..b,t=c..d)
plot3d([f,g,h],a.-b,c..d)
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u(x, y) = xsin xcosy

il i 2 EH T V(X Y) = XCOSXCOS Y,
w(Xx,y) = xsiny
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> plot3d([x*sin(xX)*cos(y) ,x*cos(x)*cos(y),x*sin(y)],
x=0..2*Pi,y=0..Pi,labels=["u","v","w"]);

Bl HIERARFRAE I
> plot3d(cos(x*2)*sin(y),x=-2*Pi..2*Pi,y=-Pi..Pi, coords=spherical,
numpoints=10000) ;
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o4 animate. animate3d fl animatecurve 7& 6.4 Vi, s 5 LR iR
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> with(plots);

Warning, the name changecoords has been redefined

[animate, animate3d, animatecurve, arrow, changecoords, complexplot,
complexplot3d, conformal, conformal3d, contourplot, contourplot3d,
coordplot, coordplot3d, cylinderplot, densityplot, display,
display3d, fieldplot, fieldplot3d, gradplot, gradplot3d,
graphplot3d, implicitplot, implicitplot3d, inequal, interactive,
interactiveparams, listcontplot, listcontplot3d, listdensityplot,
listplot, listplot3d, loglogplot, logplot, matrixplot, multiple,
odeplot, pareto, plotcompare, pointplot, pointplot3d, polarplot,
polygonplot, polygonplot3d, polyhedra_supported, polyhedraplot,
replot, rootlocus, semilogplot, setoptions, setoptions3d,
spacecurve, sparsematrixplot, surfdata, textplot, textplot3d,
tubeplot]

o H{HLE
contourplot (pR%L, Yulf, XEID
contourplot3d (%L, JEfl, &L

. 3 f(X) =sin(cos(x? + y?)) iz K.

> contourplot(sin(cos(x"2+y"2)),x=-10..10,y=-10. .10, Filled=true);
contourplot3d(sin(cos(x"2+y"2)),x=-10..10,y=-10. .10, Filled=true);



densityplot (pf%l, Juff, &)

fieldplot ([, [, &I
fieldplot3d (&g, Joll, @&

Bl: R
> Fieldplot([sin(2*x*y),cos(2*x-y)],x=-2..2,y=-2..2,axes=boxed) ;
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o KA
gradplot (p%, Y[, &)
gradplot3d (pk%k, o, @&
;i = AERR L
> gradplot3d(x"2+y"2+z"2 ,x=-1..1,y=-1_.1,z=-1._.1,axes=boxed);
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o BRI
implicitplot (5%, Jull, &L
implicitplot3d (J5f%, Juffl, &L
X+ Yy =27 EE.
> implicitplot3d(x"2+y"2=z"2 ,x=-1..1,y=-1..1,z=-1__.1);
R+ Y+ 2 +1=(x+ Y+ 2+ D ETE.
> implicitplot3d(xX"3+y"3+z"3+1=(X+y+z+1)"3, x=-2..2, y=-2..2,
z=-2..2, style=patchnogrid, numpoints=10000);
o KR RIIEE
o HRIEHE
6.4 BHEER

)iy 4 animate
animate(f(x,t),x=a..b,t=c..d)
animate KKEE plots Fpad, AT EZG0HE plots F2/P 4.

fil: SR sin() Bl
> with(plots);
> animate(sin(X-t) ,x=-2*Pi..2*Pi,t=0. .10, scaling=constrained);
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> curve:=plot(sin(x),x=0..10,color=blue):

> animate(pointplot,[[t,sin(t)],symbol=circle,symbolsize=10],
t=0..10,color=red,background=curve);
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Bl 1] e B A 15 55
> fg:=animate(plot3d, [sin(x*y*t) ,x=-Pi..Pi,y=-Pi..Pi],t=-1..1):
bg:=plot3d(x-y,x=-Pi..Pi,y=-Pi..Pi): display(fg,bg);

t = 75000
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